
Adding Doubles Strategy (C)Use an adding doubles strategy to find each sumExample: 7 + 5 = 7 + 7 - 2 = 14 - 2 = 124 + 5 = 1 + 3 = 12 + 11 = 
8 + 9 = 5 + 7 = 15 + 13 = 
13 + 12 = 12 + 10 = 6 + 7 = 
15 + 15 = 6 + 7 = 9 + 11 = 
14 + 16 = 9 + 9 = 2 + 1 = 
14 + 13 = 8 + 9 = 3 + 5 = 
2 + 2 = 4 + 5 = 12 + 12 = 
3 + 4 = 8 + 7 = 15 + 14 = 
11 + 12 = 3 + 2 = 17 + 15 = 
7 + 7 = 5 + 7 = 11 + 10 = 
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Adding Doubles Strategy (C) AnswersUse an adding doubles strategy to find each sumExample: 7 + 5 = 7 + 7 - 2 = 14 - 2 = 124 + 5 = 1 + 3 = 12 + 11 =4 + 4 + 1 = 9 1 + 1 + 2 = 4 12 + 12 - 1 = 238 + 1 = 9 2 + 2 = 4 24 - 1 = 238 + 9 = 5 + 7 = 15 + 13 =8 + 8 + 1 = 17 5 + 5 + 2 = 12 15 + 15 - 2 = 2816 + 1 = 17 10 + 2 = 12 30 - 2 = 2813 + 12 = 12 + 10 = 6 + 7 =13 + 13 - 1 = 25 12 + 12 - 2 = 22 6 + 6 + 1 = 1326 - 1 = 25 24 - 2 = 22 12 + 1 = 1315 + 15 = 6 + 7 = 9 + 11 =15 + 15 = 30 6 + 6 + 1 = 13 9 + 9 + 2 = 2012 + 1 = 13 18 + 2 = 2014 + 16 = 9 + 9 = 2 + 1 =14 + 14 + 2 = 30 9 + 9 = 18 2 + 2 - 1 = 328 + 2 = 30 4 - 1 = 314 + 13 = 8 + 9 = 3 + 5 =14 + 14 - 1 = 27 8 + 8 + 1 = 17 3 + 3 + 2 = 828 - 1 = 27 16 + 1 = 17 6 + 2 = 82 + 2 = 4 + 5 = 12 + 12 =2 + 2 = 4 4 + 4 + 1 = 9 12 + 12 = 248 + 1 = 93 + 4 = 8 + 7 = 15 + 14 =3 + 3 + 1 = 7 8 + 8 - 1 = 15 15 + 15 - 1 = 296 + 1 = 7 16 - 1 = 15 30 - 1 = 2911 + 12 = 3 + 2 = 17 + 15 =11 + 11 + 1 = 23 3 + 3 - 1 = 5 17 + 17 - 2 = 3222 + 1 = 23 6 - 1 = 5 34 - 2 = 327 + 7 = 5 + 7 = 11 + 10 =7 + 7 = 14 5 + 5 + 2 = 12 11 + 11 - 1 = 2110 + 2 = 12 22 - 1 = 21Math-Drills.Com


